Available online at www.sciencedirect.com





JOURNAL OF Approximation Theory

Journal of Approximation Theory 128 (2004) 103-114

http://www.elsevier.com/locate/jat

Convergence rate of Fourier–Laplace series of L^2 -functions

Chin-Cheng Lin^{a,*,1} and Kunyang Wang^{b,2}

^a Department of Mathematics, National Central University, Chung-Li 3205, China (Taiwan) ^b Department of Mathematics, Beijing Normal University, Beijing 100875, China

Received 9 July 2002; accepted in revised form 27 April 2004

Communicated by Hans G. Feichtinger

Abstract

The almost everywhere convergence rates of Fourier–Laplace series are given for functions in certain subclasses of $L^2(\Sigma_{n-1})$ defined in terms of moduli of continuity. © 2004 Elsevier Inc. All rights reserved.

MSC: 42B20

Keywords: Almost everywhere convergence; Fourier-Laplace series; Modulus of continuity

1. Introduction and main results

Let $n \ge 3$ and let $\Sigma_{n-1} = \{(x_1, \dots, x_n) : x_1^2 + \dots + x_n^2 = 1\}$ be the unit sphere of \mathbb{R}^n equipped with the normal Lebesgue measure. Let $f \in L^2(\Sigma_{n-1})$ and let

$$f \sim \sigma(f)(x) \coloneqq \sum_{k=0}^{\infty} Y_k(f)(x) \tag{1}$$

*Corresponding author. Fax: +886-3-425-7379.

E-mail addresses: clin@math.ncu.edu.tw (Chin-Cheng Lin), wangky@bnu.edu.cn (Kunyang Wang).

¹Supported in part by National Science Council in Taipei.

0021-9045/\$ - see front matter © 2004 Elsevier Inc. All rights reserved. doi:10.1016/j.jat.2004.04.004

²Supported in part by the Natural Science Foundation of China.

be the Fourier-Laplace series of f, where Y_k is the projection operator from $L^2(\Sigma_{n-1})$ to the space of all spherical harmonics of degree k. The Cesàro means of order δ of $\sigma(f)$ are defined as usual by

$$\sigma_N^{\delta}(f) \coloneqq (A_N^{\delta})^{-1} \sum_{k=0}^N A_{N-k}^{\delta} Y_k(f),$$

where

$$A_N^{\delta} = \frac{\Gamma(N+\delta+1)}{\Gamma(\delta+1)\Gamma(N+1)}, \quad \delta > -1,$$
(2)

are the coefficients of the power series of the function $(1 - x)^{-\delta - 1}$, |x| < 1; i.e.

$$(1-x)^{-\delta-1} = \sum_{k=0}^{\infty} A_k^{\delta} x^k.$$
 (3)

It is obvious that $\sigma_N^0(f) = \sum_{k=0}^N Y_k(f)$ is just the *N*th partial sum of the Fourier–Laplace series of f.

Our main purpose is to find the convergence rate of $\sigma_N^0(f)$ on a set of full measure in Σ_{n-1} for any f in certain subclasses of $L^2(\Sigma_{n-1})$ defined in terms of modulus of continuity.

In order to define modulus of continuity on the sphere, we first introduce the translation operator S_{θ} with step $\theta \in \mathbb{R}$. As in [7, p. 58], we define

$$S_{\theta}(f)(x) \coloneqq \frac{1}{|\Sigma_{n-2}|} \int_{\{y \in \Sigma_{n-1}: xy = 0\}} f(x \cos \theta + y \sin \theta) \, d\ell(y),$$

here $x \in \Sigma_{n-1}$ and $d\ell(y)$ denotes the usual Lebesgue measure elements on the n-2 dimensional manifold $\{y \in \Sigma_{n-1} : xy = 0\}$. We know (see [7, p. 61, (2.4.6)]) that, for every k = 0, 1, 2, ...,

$$Y_k(S_\theta(f)) = P_k^n(\cos\theta) Y_k(f),$$

where P_k^n is Gegenbauer polynomial defined by

$$P_k^n(t) = \frac{P_k^{\left(\frac{n-3}{2}, \frac{n-3}{2}\right)}(t)}{P_k^{\left(\frac{n-3}{2}, \frac{n-3}{2}\right)}(t)}, \quad |t| \le 1,$$
(4)

with $P_k^{(\alpha,\beta)}$ being Jacobi polynomial. By the formulas [6, p. 58, (4.1.1)] and [p. 168, (7.32.2)], we have

$$|P_k^n(\cos\theta)| \leqslant \begin{cases} \frac{1}{(k\theta(\pi-\theta))^{\frac{n-2}{2}}}, & \text{for all } \theta \in (0,\pi), \end{cases}$$
(5)

where $\gamma > 1$ is a constant depending only on *n*. Then we get

$$||S_{\theta}(f)||_{2} = \left(\sum_{k=0}^{\infty} |P_{k}^{n}(\cos \theta)|^{2}||Y_{k}(f)||_{2}^{2}\right)^{\frac{1}{2}} \leq ||f||_{2}.$$

Thus, we conclude that as an operator from $L^2(\Sigma_{n-1})$ to $L^2(\Sigma_{n-1})$, S_{θ} has norm 1; that is, $||S_{\theta}||_{(L^2(\Sigma_{n-1}), L^2(\Sigma_{n-1}))} = 1$. Let *I* be the identity operator and let *s* be a positive number. We set $\psi_s(u) := (1-u)^{\frac{s}{2}}$. Following [5], we call the operator

$$\Delta_{\theta}^{s} \coloneqq (I - S_{\theta})^{\frac{s}{2}} = \sum_{k=0}^{\infty} \frac{\psi_{s}^{(k)}(0)}{k!} S_{\theta}^{k}$$

an sth order difference operator. It is obvious that

$$||\Delta_{\theta}^{s}||_{(L^{2}(\Sigma_{n-1}),L^{2}(\Sigma_{n-1}))} \leq \sum_{k=0}^{\infty} \frac{|\psi_{s}^{(k)}(0)|}{k!} < \infty.$$

We define (as in [5]) the sth order modulus of continuity of a function $f \in L^2(\Sigma_{n-1})$ by

$$\omega_s(f,t)_2 \coloneqq \sup\{||\Delta_u^s f||_2 \colon 0 < u \le t\}$$

Since all of our discussion are in $L^2(\Sigma_{n-1})$, in what follows, we will omit the subscription "2" in the norm and in the moduli.

It is well known (see [5]) that, for $0 < \alpha < \beta$ and $f \in L^2(\Sigma_{n-1})$,

$$\omega_{\beta}(f,t) \leq C(\alpha,\beta)\omega_{\alpha}(f,t), \tag{6}$$

where $C(\alpha, \beta)$ is a constant depending only on α and β .

Definition 1. Let $s > 0, r \in \mathbb{R}$, and $f \in L^2(\Sigma_{n-1})$. If $\int_{-1}^{1} \omega_s(f, t)^2 dt = r(2)$

$$\int_0^1 \frac{\omega_s(f,t)}{t} \log^r\left(\frac{2}{t}\right) dt < \infty,$$

then we say that f satisfies the condition $(\{s, r\})$.

Our first result is the following theorem:

Theorem 1. Let $r \ge 1$. If there exists s > 0 such that f satisfies the condition $(\{s, r\})$, then

$$\sigma_N^0(f)(x) - f(x) = o\left(\frac{1}{\log^{\frac{r-1}{2}}N}\right) \quad as \ N \to \infty$$

holds on Σ_{n-1} almost everywhere.

Our second theorem is about the case $0 \le r < 1$.

106 Chin-Cheng Lin, Kunyang Wang / Journal of Approximation Theory 128 (2004) 103-114

Theorem 2. Let $0 \le r < 1$. If there exists s > 0 such that f satisfies the condition $(\{s, r\})$, then

$$\lim_{N \to \infty} \log \frac{r-1}{2} N(\sigma_N^0(f)(x) - f(x)) = 0$$

holds on Σ_{n-1} almost everywhere.

Remark 1. Since the modulus of continuity is defined in square integrable terms, the convergence rate in L^2 -norm can be obtained easily. For example, if f satisfies the condition ($\{2, r\}$), i.e.

$$f_{\frac{r+1}{2}} \sim \sum_{k=0}^{\infty} \log^{\frac{r+1}{2}} (k+2) Y_k(f) \in L^2(\Sigma_{n-1}),$$

then we can easily get

$$||\sigma_N^0(f) - f||_2 = \left\{\sum_{k=N+1}^{\infty} \log^{-(r+1)}(k+2)||Y_k(f_{r+1})||_2^2\right\}^{\frac{1}{2}} = o\left(\frac{1}{\log^{\frac{r+1}{2}}(N+2)}\right)$$

This order $\log^{-\frac{r+1}{2}}N$ is better than the almost everywhere convergence rate $\log^{-\frac{r-1}{2}}N$.

Remark 2. Both Theorems 1 and 2 have the same form. However, when $r \ge 1$, we really get the convergence rate like Theorem 1; when $0 \le r < 1$, we cannot conclude whether $\sigma_N^0(f)$ converges almost everywhere but get only the almost everywhere convergence of $\log \frac{r-1}{2} N(\sigma_N^0(f) - f)$.

Before proving the theorems, we will introduce some function classes related to the condition $(\{s, r\})$. Given a function $f \in L^2(\Sigma_{n-1})$ and a positive number r, if

$$\sum_{k=0}^{\infty} \log^{2r}(k+2) ||Y_k(f)||_2^2 < \infty,$$

then we say $f \in L^2_r(\Sigma_{n-1})$ and write

$$f_r = \sum_{k=0}^{\infty} \log^r(k+2) Y_k(f) \quad \text{in } L^2(\Sigma_{n-1}) \text{ sense.}$$

$$\tag{7}$$

In Section 2, we give a characterization for the function class $L_r^2(\Sigma_{n-1})$ in terms of the modulus of continuity. In Section 3, we give a domination for maximal partial sum with "log" factor of Fourier–Laplace series which plays the key role for proving the main theorems. In Section 4 we complete the proofs of the theorems.

2. Characterization of the class $L^2_r(\Sigma_{n-1})$

Theorem 3. Let r > -1. The necessary and sufficient condition for $f \in L^2_{\frac{r+1}{2}}(\Sigma_{n-1})$ is that f satisfies $(\{2, r\})$.

Proof. Assume $f \in L^2_{\frac{r+1}{2}}(\Sigma_{n-1})$ first. Then

$$f_{\frac{r+1}{2}}(x) \sim \sigma(f_{\frac{r+1}{2}})(x) \coloneqq \sum_{k=0}^{\infty} \log^{\frac{r+1}{2}}(k+2) Y_k(f)(x).$$

We have

$$\Delta_t^2(f) \sim \sum_{k=1}^{\infty} \left(1 - P_k^n(\cos t)\right) Y_k(f)$$

and

$$||\Delta_t^2(f)||^2 = \sum_{k=1}^{\infty} (1 - P_k^n(\cos t))^2 ||Y_k(f)||^2.$$
(8)

Applying the formula (see [6, p. 81], [7, p. 31])

$$\frac{d}{dt}P_k^n(t) = \frac{k(k+n-2)}{n-1}P_{k-1}^{n+2}(t),$$

we have

$$1 - P_k^n(\cos \theta) = \frac{k(k+n-2)}{n-1} P_{k-1}^{n+2}(\cos \xi) (1 - \cos \theta).$$

where $\xi \in (0, \theta)$. Taking (5) into account, we hence have

$$0 \leqslant 1 - P_k^n(\cos\theta) \leqslant (k\theta)^2.$$
⁽⁹⁾

It follows from (5) and $\frac{n-2}{2} \ge \frac{1}{2}$ that

$$P_k^n(\cos\theta)|\leq \frac{1}{2}$$
 for $\theta \in (0,1)$ and $k\theta \geq 4\gamma^2$. (10)

Write

$$\delta_k(t) = \sup\{|1 - P_k^n(\cos\theta)|^2 : 0 \le \theta \le t\}, \quad t \in (0,1)$$

By (8) we get

$$\int_{0}^{1} \frac{\omega_{2}(f,t)^{2}}{t} \log^{r}\left(\frac{2}{t}\right) dt \leq \sum_{k=1}^{\infty} \int_{0}^{1} \frac{\delta_{k}(t)}{t} \log^{r}\left(\frac{2}{t}\right) dt ||Y_{k}(f)||^{2}.$$

Applying (9) and (10), we have

$$\delta_{k}(t) \leq \begin{cases} 1, & 4\gamma^{2}k^{-1} < t < 1, \quad k > 4\gamma^{2}, \\ (kt)^{4}, & 0 < t \leq 4\gamma^{2}k^{-1}, \quad k > 4\gamma^{2}, \\ (kt)^{4} \leq B_{n}t^{4}, & 0 < t < 1, \quad k \leq 4\gamma^{2}, \end{cases}$$
(11)

108 Chin-Cheng Lin, Kunyang Wang / Journal of Approximation Theory 128 (2004) 103–114

where B_n is a constant depending only on *n*. From (11) we derive that

$$\int_0^1 \frac{\delta_k(t)}{t} \log^r\left(\frac{2}{t}\right) dt \leqslant B_n \log^{r+1}(k+2).$$

Since $f \in L^2_{\frac{r+1}{2}}(\Sigma_{n-1})$ as an assumption, we see that f satisfies the condition $(\{2, r\})$.

We now assume that f satisfies the condition $(\{2, r\})$. We start from (8). Then

$$\sum_{k=1}^{\infty} \int_{0}^{1} (1 - P_{k}^{n}(\cos t))^{2} t^{-1} \log^{r}\left(\frac{2}{t}\right) dt ||Y_{k}(f)||^{2}$$
$$= \int_{0}^{1} ||\Delta_{t}^{2}(f)||^{2} t^{-1} \log^{r}\left(\frac{2}{t}\right) dt < \infty.$$

Hence

$$\sum_{k>4\gamma^2}^{\infty} \int_{4\gamma^2 k^{-1}}^1 (1 - P_k^n(\cos t))^2 t^{-1} \log^r\left(\frac{2}{t}\right) dt ||Y_k(f)||^2 < \infty.$$

So, by (10) we obtain

$$\sum_{k>4\gamma^2}^{\infty} \int_{4\gamma^2 k^{-1}}^1 t^{-1} \log^r\left(\frac{2}{t}\right) dt ||Y_k(f)||^2 < \infty,$$

which implies $f \in L^2_{\frac{r+1}{2}}(\Sigma_{n-1})$. \Box

3. Domination for Fourier-Laplace partial sums with log factors

From (2) we derive the well-known formula for Cesàro numbers:

$$A_k^{lpha+eta} = \sum_{j=0}^k A_{k-j}^{lpha-1} A_j^{eta}, \quad lpha \! > \! 0, \; eta \! > \! -1.$$

By this formula and (3) we get, for $f \in L^2(\Sigma_{n-1})$,

$$\sigma_N^0(f) = \sum_{k=0}^N A_{N-k}^{-\frac{1}{2}} A_k^{-\frac{1}{2}} \sigma_k^{-\frac{1}{2}}(f).$$
(12)

Denote by σ_*^{α} the maximal Cesàro operator of order α ; that is,

$$\sigma_*^{\alpha}(f)(x) \coloneqq \sup\{|\sigma_k^{\alpha}(f)(x)| : k \in \mathbb{N}\}, \quad \alpha > -1, \ x \in \Sigma_{n-1}.$$

It is well known (see [1]) that, for $\alpha > 0$, σ_*^{α} is bounded from $L^2(\Sigma_{n-1})$ to $L^2(\Sigma_{n-1})$. We introduce an operator on $L^2(\Sigma_{n-1})$ as follows: **Definition 2.** For $f \in L^2(\Sigma_{n-1})$, define

$$\delta(f) \coloneqq \left(\sum_{k=0}^{\infty} |A_k^{-\frac{1}{2}}(\sigma_k^{-\frac{1}{2}}(f) - \sigma_k^{\frac{1}{2}}(f))|^2\right)^{\frac{1}{2}}.$$

By (12), applying Schwarz inequality, we have

$$\begin{split} |\sigma_{N}^{0}(f)| &\leq \sum_{k=0}^{N} A_{N-k}^{-\frac{1}{2}} A_{k}^{-\frac{1}{2}} |\sigma_{k}^{-\frac{1}{2}}(f) - \sigma_{k}^{\frac{1}{2}}(f)| + \sum_{k=0}^{N} A_{N-k}^{-\frac{1}{2}} A_{k}^{-\frac{1}{2}} |\sigma_{k}^{\frac{1}{2}}(f)| \\ &\leq \left(\sum_{k=0}^{N} (A_{N-k}^{-\frac{1}{2}})^{2}\right)^{\frac{1}{2}} \delta(f) + \sigma_{*}^{\frac{1}{2}}(f) \\ &\leq C \log^{\frac{1}{2}}(N+2)\delta(f) + \sigma_{*}^{\frac{1}{2}}(f), \end{split}$$
(13)

where C is a proper constant.

Lemma 1. The operator δ is bounded from $L^2_{\frac{1}{2}}(\Sigma_{n-1})$ to $L^2(\Sigma_{n-1})$; i.e.

$$||\delta(f)|| \leq C ||f_{\frac{1}{2}}|| \quad for \ f \in L^2_{\frac{1}{2}}(\Sigma_{n-1}),$$

where C is a proper constant.

Proof. We have

$$\sigma_{k}^{-\frac{1}{2}}(f) - \sigma_{k}^{\frac{1}{2}}(f) = \frac{1}{A_{k}^{-\frac{1}{2}}} \sum_{j=0}^{k} A_{k-j}^{-\frac{1}{2}} \left(1 - \frac{A_{k}^{-\frac{1}{2}}A_{k-j}^{\frac{1}{2}}}{A_{k-j}^{-\frac{1}{2}}A_{k}^{\frac{1}{2}}} \right) Y_{j}(f)$$
$$= \frac{1}{A_{k}^{-\frac{1}{2}}} \sum_{j=0}^{k} A_{k-j}^{-\frac{1}{2}} \frac{j}{k+\frac{1}{2}} Y_{j}(f).$$

So,

$$\begin{aligned} ||\delta(f)||^2 &= \int_{\Sigma_{n-1}} \sum_{k=1}^{\infty} \left| \sum_{j=1}^{k} A_{k-j}^{-\frac{1}{2}} \frac{j}{k+\frac{1}{2}} Y_j(f)(x) \right|^2 dx \\ &= \sum_{k=1}^{\infty} \sum_{j=1}^{k} \left| A_{k-j}^{-\frac{1}{2}} \frac{j}{k+\frac{1}{2}} \right|^2 ||Y_j(f)||^2 \\ &\leqslant C \sum_{j=1}^{\infty} \sum_{k=j}^{\infty} \frac{j^2}{(k-j+1)k^2} ||Y_j(f)||^2 \end{aligned}$$

$$\leq C \sum_{j=1}^{\infty} \log(j+1) ||Y_j(f)||^2$$
$$\leq C ||f_{\frac{1}{2}}||^2. \qquad \Box$$

Definition 3. Let $\alpha > -1$. For $f \in L^2(\Sigma_{n-1})$, define

$$\rho_{\alpha}(f)(x) \coloneqq \sup\{\log^{\alpha} N | \sigma_{N}^{0}(f)(x)| : N \ge 3\}$$
(14)

$$h_{\alpha}(f)(x) \coloneqq \sup\{\log^{\alpha} N | f(x) - \sigma_N^0(f)(x)| : N \ge 3\}.$$
(15)

Lemma 2. For $f \in L^2_{\frac{1}{2}}(\Sigma_{n-1}),$ $||\rho_{-\frac{1}{2}}(f)|| \leq C||f_{\frac{1}{2}}||.$

Proof. This is a direct consequence of (13), Lemma 1, and the boundedness of $\sigma_{*}^{\frac{1}{2}}$. \Box

Corollary 1. If
$$f \in L^2_{\frac{1}{2}}(\Sigma_{n-1})$$
, then
$$\lim_{N \to \infty} \log^{-\frac{1}{2}} N |\sigma^0_N(f)(x)| = 0 \quad almost \ everywhere.$$

Proof. By Definition 3, it is obvious that

 $h_{-\frac{1}{2}}(f)(x)\!\leqslant\!\rho_{-\frac{1}{2}}(f)(x)+|f(x)|.$

Hence $||h_{-\frac{1}{2}}(f)|| \leq C||f_{\frac{1}{2}}||$ by Lemma 2. Given $\varepsilon > 0$, we choose $m \in \mathbb{N}$ big enough such that

$$||f - \sigma_m^0(f)|| \! \leqslant \! ||f_{\frac{1}{2}} - \sigma_m^0(f_{\frac{1}{2}})|| \! < \! \varepsilon$$

and write $g = \sigma_m^0(f)$ for simplicity. Since

$$\limsup_{N \to \infty} \log^{-\frac{1}{2}} N |\sigma_N^0(f)(x)| = \limsup_{N \to \infty} \log^{-\frac{1}{2}} N |\sigma_N^0(f-g)(x)| \le h_{-\frac{1}{2}}(f-g)(x),$$

we get

$$\left|\left|\limsup_{N\to\infty} \log^{-\frac{1}{2}} N |\sigma_N^0(f)|\right|\right| \leqslant C ||(f-g)_{\frac{1}{2}}|| < C\varepsilon.$$

So, by the arbitrariness of ε , the left-hand side of the above inequality is zero. \Box

4. Proof of the theorems

We first prove the following lemma.

Lemma 3. For all s > 0 and r > -1, the condition $(\{s, r\})$ implies the condition $(\{2, r\})$. We will verify this by using K-functionals concerning the derivatives. Let $f \in L^2(\Sigma_{n-1})$ and s > 0. If there exists a function $g \in L^2(\Sigma_{n-1})$ such that

$$g \sim \sum_{k=1}^{\infty} (k(k+n-2))^{\frac{s}{2}} Y_k(f),$$

then g is called the derivative of degree s of f and is written as $g = D^s f = f^{(s)}$.

Following [5], the *s*th *K*-functional $K_s(\cdot, t)$ on $L^2(\Sigma_{n-1})$ is defined by

$$K_s(f,t) = \inf\{||f-g|| + t^s ||g^{(s)}||: g^{(s)} \in L^2(\Sigma_{n-1})\}.$$

Lemma 4 (see Ditzian [3]). If $0 < \alpha < \beta$, then

$$K_{\alpha}(f,t) \leq C(\alpha,\beta)t^{\alpha} \int_{t}^{1} K_{\beta}(f,u)u^{-\alpha-1} du$$

Lemma 5 (see Kalyabin [5]). Suppose s > 0 and $f \in L^2(\Sigma_{n-1})$. Then

$$\omega_s(f,t) \leq B_{n,s} K_s(f,t) \leq B'_{n,s} \omega_s(f,t) \quad for \ all \ t > 0.$$

By Lemmas 2 and 3, we get directly that, for $0 < \alpha < \beta < \infty$,

$$\omega_{\alpha}(f,t) \leq C(\alpha,\beta)t^{\alpha} \int_{t}^{1} \frac{\omega_{\beta}(f,u)}{u^{\alpha+1}} du.$$
(16)

Proof of Lemma 3. Assume 0 < s < 2. By (6) we know that if the condition $(\{s, r\})$ holds, then $(\{2, r\})$ holds also. Now we assume that 2 < s and $(\{s, r\})$ holds. Then, by (16),

$$\omega_2(f,t) \leq C_s t^2 \int_t^1 \frac{\omega_s(f,u)}{u^3} du$$

and hence, by Schwarz inequality,

$$\omega_2(f,t)^2 \leq C_s t^4 \int_t^1 \frac{\omega_s(f,u)^2}{u^2} du \int_t^1 u^{-4} du \leq C_s t \int_t^1 \frac{\omega_s(f,u)^2}{u^2} du.$$

112 Chin-Cheng Lin, Kunyang Wang / Journal of Approximation Theory 128 (2004) 103-114

Then we get

$$\int_0^1 \frac{\omega_2(f,t)^2}{t} \log^r\left(\frac{2}{t}\right) dt \leqslant C_s \int_0^1 \log^r\left(\frac{2}{t}\right) \int_t^1 \frac{\omega_s(f,u)^2}{u^2} du \, dt$$
$$\leqslant C_s \int_0^1 \frac{\omega_s(f,u)^2}{u^2} \left(\int_0^u \log^r\left(\frac{2}{t}\right) dt\right) du$$
$$\leqslant C_s \int_0^1 \frac{\omega_s(f,t)^2}{t} \log^r\left(\frac{2}{t}\right) dt. \quad \Box$$

From Lemma 3, to prove Theorems 1 and 2, it suffices for us to prove both for s = 2.

Proof of Theorem 1. Assume $r \ge 1$.

Let
$$f \in L^2(\Sigma_{n-1})$$
. If f satisfies the condition $(\{2, r\})$, then by Theorem 3,
 $f \in L^2_{\frac{r+1}{2}}(\Sigma_{n-1}) \subset L^2_1(\Sigma_{n-1}).$

We first consider the case of r = 1. In this case the result is known (see [2]). In fact, for any function $f \in L_1^2$, the almost everywhere convergence of the orthogonal expansion of f holds by a general theorem for orthogonal series (see [4, p. 190 for Russian translation]). But for the completeness we give a very short proof here. Generally, for $\alpha > 0$ and $f \in L_{\alpha+\frac{1}{2}}^2(\Sigma_{n-1})$, by using Abel transform twice, we have, for $N \ge 3$,

$$\begin{split} \sigma_N^0(f) &= \sum_{k=0}^N \ Y_k(f) = \sum_{k=0}^N \ \mu_k^{\alpha} Y_k(f_{\alpha}) \\ &= \sum_{k=0}^{N-2} \ (k+1) \Delta^2 \mu_k^{\alpha} \sigma_k^1(f_{\alpha}) + (N-1) \Delta \mu_{N-1}^{\alpha} \sigma_{N-1}^1(f_{\alpha}) + \mu_N^{\alpha} \sigma_N^0(f_{\alpha}), \end{split}$$

where

$$\mu_k^{\alpha} \coloneqq \frac{1}{\log^{\alpha}(k+2)}, \ \Delta \mu_k^{\alpha} \coloneqq \mu_k^{\alpha} - \mu_{k+1}^{\alpha}, \ \Delta^2 \mu_k^{\alpha} \coloneqq \Delta \mu_k^{\alpha} - \Delta \mu_{k+1}^{\alpha}.$$

Then we get

$$\sigma^0_*(f) \leq C_\alpha(\sigma^1_*(f_\alpha) + \rho_{-\alpha}(f_\alpha)).$$

Hence, by Lemma 2 and the boundedness of σ_*^1 , we get

$$||\sigma_*^0(f)|| \leq C ||\sigma_*^1(f_{\frac{1}{2}})|| + ||\rho_{-\frac{1}{2}}(f_{\frac{1}{2}})|| \leq C ||f_1||.$$

Thus, for all $f \in L^2_1(\Sigma_{n-1})$,

$$\lim_{N \to \infty} \sigma_N^0(f)(x) = f(x) \quad \text{almost everywhere.}$$
(17)

Next we assume r > 1. Fix N > 2 temporarily and let m > N. Then

$$\sigma_m^0(f) - \sigma_{N-1}^0(f) = \sum_{k=N}^m Y_k(f) = \sum_{k=N}^m \mu_k^{\frac{r}{2}} Y_k(f_{\frac{r}{2}}).$$

Using Abel transform, we get

$$\sigma_m^0(f) - \sigma_{N-1}^0(f) = \sum_{k=N}^{m-1} \Delta \mu_k^{\frac{r}{2}} \sigma_k^0(f_{\frac{r}{2}}) + \mu_m^{\frac{r}{2}}(\sigma_m^0(f_{\frac{r}{2}}) - \sigma_{N-1}^0(f_{\frac{r}{2}})).$$

Since $f_{\frac{r}{2}} \in L^2_{\frac{1}{2}}(\Sigma_{n-1})$, by Corollary 1 we know

$$\lim_{m \to \infty} \mu_m^{\frac{r}{2}}(\sigma_m^0(f_{\frac{r}{2}}) - \sigma_{N-1}^0(f_{\frac{r}{2}})) = 0 \quad \text{almost everywhere } (r \ge 1).$$
(18)

Taking the limit $m \rightarrow \infty$ and applying (18) yield

$$f - \sigma_{N-1}^0(f) = \sum_{k=N}^{\infty} \Delta \mu_k^{\frac{r}{2}} \sigma_k^0(f_{\frac{r}{2}})$$
 almost everywhere.

Notice that $|\Delta \mu_k^{\frac{r}{2}}| \leq C \frac{1}{k \log^{1+\frac{r}{2}} k} (k>2)$. We get

$$|f - \sigma_{N-1}^0(f)| \leqslant C \sum_{k=N}^{\infty} \frac{1}{k \log^{1+\frac{r-1}{2}} k} \rho_{-\frac{1}{2}}(f_{\frac{r}{2}}) \leqslant \frac{C}{\log^{\frac{r-1}{2}} N} \rho_{-\frac{1}{2}}(f_{\frac{r}{2}}) \quad \text{almost everywhere.}$$

Applying Lemma 2, we obtain

$$||h_{\underline{r-1}}(f)|| \leq C||f_{\underline{r+1}}||,$$

which implies, by a routine argument, the conclusion of Theorem 1 for r > 1. \Box

Proof of Theorem 2. Assume $0 \le r < 1$ and f satisfies $(\{2, r\})$. We write $\alpha = \frac{r-1}{2}$ for convenience. Then $-\frac{1}{2} \le \alpha < 0$. By Theorem 3, $f \in L^2_{\alpha+1}(\Sigma_{n-1})$. We have, for N > 3,

$$\sigma_N^0(f) = \sum_{k=0}^{N-1} \Delta \mu_k^{\frac{r}{2}} \sigma_k^0(f_{\frac{r}{2}}) + \mu_N^{\frac{r}{2}} \sigma_N^0(f_{\frac{r}{2}}).$$

Then

$$\begin{aligned} \log^{\alpha}(N+2)|\sigma_{N}^{0}(f)| &\leq C \sum_{k=0}^{N-1} \frac{\log^{\alpha}(N+2)}{(k+2)\log^{\alpha+\frac{3}{2}}(k+2)} |\sigma_{k}^{0}(f_{\frac{r}{2}})| + \frac{1}{\log^{\frac{1}{2}}(N+2)} |\sigma_{N}^{0}(f_{\frac{r}{2}})| \\ &\leq C_{\alpha}\rho(f_{\alpha+1}). \end{aligned}$$

Therefore,

$$||h_{\alpha}(f)|| \leq C_{\alpha}||f_{\alpha+1}|| = C_{\alpha}||f_{\frac{r+1}{2}}||.$$

By this we finish the proof. \Box

References

- A. Bonami, J.L. Clerc, Sommes de Cesàro et multiplicateurs des dèvelopments en harmonique sphérique, Trans. Amer. Math. Soc. 183 (1973) 223–263.
- [2] F. Dai, A note on a.e. convergence of Fourier–Laplace series in L^2 , J. Beijing Normal Univ. (NS) 35 (1999) 6.
- [3] Z. Ditzian, Fractional derivatives and best approximation, Acta Math. Hungar. 81 (1998) 323–348.
- [4] S. Kaczmarz, H. Steinhaus, Theorie der Orthogonalreihen, Chelsea, New York, 1951 (Russian translation with additional material, Teoriya Ortogonalnykh Ryadov [Theory of Orthogonal Series], GIH-ML, Moscow, 1958).
- [5] G.A. Kalyabin, On moduli of smoothness of functions given on the sphere, Sov. Math. Dokl. 35 (1987) 619–660.
- [6] G. Szegö, Orthogonal Polynomials, American Mathematical Society Colloquium Publication, Vol. 23, American Mathematical Society, Providence, RI, 1939.
- [7] K. Wang, L. Li, Harmonic Analysis and Approximation on the Unit Sphere, Science Press, Beijing, 2000.